EARAROBEEIERT — 2 N— IBISH —F

201851273180 () 19EI£IR4H

KW 7 LSE 2LUT 4¥5%2% ESRE R
[AE4£] 17 :450,000 @ ~ 2 3#&:103,000  ~ 3 #&:54,000  ~ 43#%&:40,000™ 5 3&:27,000 ©
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
) R KA . —1—1- — SARK (£IR)
B s NvE-nFaH i [ B R b s
LV ENIA— BNYILE—H BLEMS
= = > s 2 | AL 1:38.8 2-2-2-2 [ 39.9| — 3 446 | RMEFE (£R)
oWl 4| Z7)—F v £252.0 (3/4) te) | (B J PN
L—2YL K B:57U-H5>ax RFE EF
; # 2 | tEH 1:39.3 3-3-3-3 | 40.0| — 4 429 | SIEERE (£R)
3011 |PPI=XL—"J 54.0 21/2) (+1) @&%
L:ErFOvY BiAAT7O-F jpdizie]
K S5 S 4 o2 | BEREKA 1:39.8 9-8-6-5 |39.6| — 6 429 | HARR (£R)
4l7/7|¥3avlse s> 54.0 (21/2) ) ) 77— hETa
LNMVT Sy BidvA b ay I #2
i B t 2 | SREA 1:40.0 5-6-7-7 | 39.6 | — 2 425 | HARR (£R)
58|10 7V T PLT T~ 54.0 (11/2) W) | B Tr—ZrEvar
RiFhv<71X4 BAXEFX-I EvJILy RT77—L4
f 2 | HHEER 1:40.1 7-7-8-7 |39.5| — 7 416 | =tERZ (£R)
6|5|5| 7137 /ET> 54.0 (172) (a) | HEE
L:4pia B:A4Y/R)—L Pal:bie)
ft 2 | MEHEE] 1:40.3 4-4-4-4 | 40.8| — 5 448 | £H—E (£R)
7l8lo|XVFTT 54.0 " 1) L
R:2&2—-Urj0-X B:H 7RI Y]
. B2 | REEt 1:40.4 5-5-5-6 | 40.5| — 8 408 | £H—8 (£R)
8|78 L1477 54.0’i (1/2) (+3) 5§7f<§§5 ’
R:Zv—b77)a> B:7O-UIXNSA7 1EE BB—
— e P 4. -8-0- Al - BiEEZ (2R
9 6 L oEeny 4 2 o 1(492)2 8-8-9-9 | 41.1 10 ;1:113; #?EEE
LXK AT BVEMNFYCEA TERHEKS
. SUEE 144, -10-10- . = SimElE (£R)
0 ol B RU—ZEX— 0 B 2 xa (1&?% 10-10-10-10| 43.2 9 (4_327) /—7\”|1I_9E
LA LINT Ry IR B:xXI-T)-X pAtse
® 1—F—@EBIERL
13—74— 3,4,1,9,(8,10),5,6,7,2
2a=5F= 3,4,1,9,8,10,5,(6,7) ,2
Ja=5= 3,4,1,9,8,7,10,5,6,2
40—F— 3,4,1,9,7,8,(5,10),6,2
[ /N
B 3 220M 714K 3-4 160 e E 3-4 520 JEE 1-3-4 610
B B 3 1204 =3 210M e B 3-4 690M JEE 3-4-1 2,110
4 130H4 1-4 320M B & 3-4 350M
1 150 B H 3-4 640M

ABICOVWTRDTEEERROODE. TR LIV,




